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Univ_Init{

B EB O, HFEHL 7 7 A O U
Universe.field.waitingtime = 0
Universe.field.sales =0
Universe.field.numperson = 0
Universe.field.servicetime = 0
Universe.field.time = 0
Universe.field.numkinyu = 0
OpenFileCSV("machilpl.txt", 5, 3)
OpenFileCSV("ninzulpl.txt", 8, 3)
OpenFileCSV("ninzuserverlpl.txt", 9, 3)
OpenFileCSV("ninzu2p1.txt", 10, 3)
OpenFileCSV("ninzuserver2pl.txt", 11, 3)
OpenFileCSV("machi2p1.txt", 12, 3)
Universe.field.numperson2 = 0

Universe.field.numkinyu2 = 0

}

Univ_Step_Begint
Dim i As Integer
Dim one As Agt
Dim ii As Integer
Dim oneone As Agt

NEDOEE (HEEOH)

For i=0 to PoissonRnd(0.00694) -1
one = CreateAgt(Universe.field.person)
one. life = -118*Log(1-rnd()
If one.life == 0 Then

one.life = one.life +1
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End if
one.wt =0
one.kinyu =0
one.kinyukeika = Int(319*2*rnd()
If Rnd() <= 0.305 Then
AddAgt(Universe.field.kaiteru, one)
Else
If CountAgtset(Universe.field.dservice) == 0 Then
AddAgt(Universe.field.dservice, one)
Universe.field.time = one.life
Elseif CountAgtSet(Universe.field.d2service) == 0 Then
AddAgt(Universe.field.d2service, one)
Universe.field.time2 = one.life
Else
AddAgt(Universe.field.gyoretsu, one)
End if
End if
Next i

& DF|IFE (EELS)

If GetCountStep() <= 25200 Then
For ii=0 to PoissonRnd(0.00452) -1
oneone = CreateAgt(Universe.field.person)
oneone.life = -245*Log(1-rnd()
If oneone.life == 0 Then
oneone.life = oneone.life +1
End if
oneone.wt =0
oneone.kinyu = 0
oneone.kinyukeika = Int(382*2*rnd())
If Rnd() <= 0.266 Then
AddAgt(Universe.field.kaiteru2, oneone)
Else
If CountAgtset(Universe.field.d3service) == 0 Then
AddAgt(Universe.field.d3service, oneone)
Universe.field.time3 = oneone.life

Elseif CountAgtSet(Universe.field.d4service) == 0 Then
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AddAgt(Universe.field.d4service, oneone)
Universe.field.time4 = oneone.life
Elseif CountAgtSet(Universe.field.d5service) == 0 Then
AddAgt(Universe.field.d5service, oneone)
Universe.field.time5 = oneone.life
Else
AddAgt(Universe.field.gyoretsu2, oneone)
End if
End if
Next i1
End if
}

Univ_Step_End{

Dim two As Agt

Dim three As Agt

Dim four As Agt

Dim templife As Integer
Dim two2 As Agt

Dim templife2 As Integer
Dim three2 As Agt

Dim five As Agt

Dim six As Agt

Dim tempkinyu As Integer
Dim five2 As Agt

Dim tempkinyu2 As Integer
Dim two3 As Agt

Dim templife3 As Integer
Dim two4 As Agt

Dim templife4 As Integer
Dim twob As Agt

Dim templife5 As Integer
Dim three3 As Agt

Dim three4 As Agt

Dim threeb As Agt

Dim four2 As Agt

Dim tempnum As Double

Dim tempkinyukeika As Integer
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Dim tempkinyukeika2 As Integer

EWNoEE

If CountAgtset(Universe.field.kaiteru) >= 1 Then
For each five in Universe.field.kaiteru
five.kinyu = five.kinyu +1
tempkinyu = five.kinyu
tempkinyukeika = five.kinyukeika

If tempkinyu >= tempkinyukeika Then
AddAgt(Universe.field.gyoretsu, five)
End if
Next five
DelAgtset(Universe.field.kaiteru, Universe.field.gyoretsu)
End if

If CountAgtset(Universe.field.kaiteru2) >= 1 Then
For each five2 in Universe.field.kaiteru2
five2. kinyu = five2.kinyu +1
tempkinyu2 = five2.kinyu
tempkinyukeika2 = five2.kinyukeika
If tempkinyu2 >= tempkinyukeika2 Then
AddAgt(Universe.field.gyoretsu2, five2)
End if
Next five2
DelAgtset(Universe.field.kaiteru2, Universe.field.gyoretsu2)
End if

=0Ty —ERAE25%T 5

If CountAgtset(Universe.field.dservice) >= 1 Then
Universe.field.servicetime = Universe.field.servicetime +1
two = GetAgt(Universe.field.dservice, 0)
templife = two.life
Universe.field.waitingtime = two.wt
If Universe.field.servicetime == templife Then

Universe.field.sales = Universe.field.sales +1

Universe.field.servicetime = 0
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tempnum = Rnd(
If tempnum <= 0.14 Then
six = CreateAgt(Universe.field.person)
six.life = -118*Log(1-rnd()
If six.life == 0 Then
six.life = six.life +1
End if
six.wt = two.wt
six.kinyu =0
six.kinyukeika = Int(319*2*rnd())
AddAgt(Universe.field.kaiteru, six)
Elseif tempnum > 0.14 and tempnum <= 0.15 Then
six = CreateAgt(Universe.field.person)
six.life = -118*Log(1-rnd()
If six.life == 0 Then
six.life = six.life +1
End if
six.wt = two.wt
six.kinyu =0
AddAgt(Universe.field.gyoretsu, six)
Else
WriteFileCSV(5, two.wt, False)
End if
DelAgt(two)
ClearAgtset(Universe.field.dservice)
End if
End if

If CountAgtset(Universe.field.d2service) >= 1 Then
Universe.field.servicetime2 = Universe.field.servicetime2 +1
two2 = GetAgt(Universe.field.d2service, 0)
templife2 = two2.life
Universe.field.waitingtime2 = two2.wt
If Universe.field.servicetime2 == templife2 Then

Universe.field.sales = Universe.field.sales +1
Universe.field.servicetime2 = 0

tempnum = Rnd()

If tempnum <= 0.14 Then
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six = CreateAgt(Universe.field.person)
six.life = -118*Log(1-rnd()
If six.life == 0 Then
six.life = six.life +1
End if
six.wt = two2.wt
six.kinyu =0
six.kinyukeika = Int(319*2*rnd())
AddAgt(Universe.field.kaiteru, six)
Elseif tempnum > 0.14 and tempnum <= 0.15 Then
six = CreateAgt(Universe.field.person)
six.life = -118*Log(1-rnd()
If six.life == 0 Then
six.life = six.life +1
End if
six.wt = two2.wt
six.kinyu =0
AddAgt(Universe.field.gyoretsu, six)
Else
WriteFileCSV(5, two2.wt, False)
End if
DelAgt(two2)
ClearAgtset(Universe.field.d2service)
End if
End if

If CountAgtset(Universe.field.d3service) >= 1 Then
Universe.field.servicetime3 = Universe.field.servicetime3 +1
two3 = GetAgt(Universe.field.d3service, 0)
templife3 = two3.life
Universe.field.waitingtime3 = two3.wt
If Universe.field.servicetime3 == templife3 Then

Universe.field.sales = Universe.field.sales +1
Universe.field.servicetime3 = 0
tempnum = Rnd()
If tempnum <= 0.107 Then
six = CreateAgt(Universe.field.person)

six.life = -245*Log(1-rnd()
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If six.life == 0 Then
six.life = six.life +1

End if

six.wt = two3.wt

six.kinyu =0

six.kinyukeika = Int(382*2*rnd())

AddAgt(Universe.field.kaiteru2, six)
Elseif tempnum > 0.107 and tempnum <= 0.128 Then

six = CreateAgt(Universe.field.person)

six.life = -245*Log(1-rnd()

If six.life == 0 Then

six.life = six.life +1

End if

six.wt = two3.wt

six.kinyu =0

AddAgt(Universe.field.gyoretsu2, six)
Else

WriteFileCSV(12, two3.wt, False)
End if
DelAgt(two3)
ClearAgtset(Universe.field.d3service)

End if
End if

If CountAgtset(Universe.field.d4service) >= 1 Then
Universe.field.servicetime4 = Universe.field.servicetime4 +1
two4 = GetAgt(Universe.field.d4service, 0)
templife4 = two4.life
Universe.field.waitingtime4 = two4.wt
If Universe.field.servicetime4 == templife4 Then

Universe.field.sales = Universe.field.sales +1
Universe.field.servicetime4 = 0
tempnum = Rnd()
If tempnum <= 0.107 Then
six = CreateAgt(Universe.field.person)
six.life = -245*Log(1-rnd()
If six.life == 0 Then

six.life = six.life +1
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End if

six.wt = twod.wt

six.kinyu =0

six.kinyukeika = Int(382*2*rnd())

AddAgt(Universe.field.kaiteru2, six)
Elseif tempnum > 0.107 and tempnum <= 0.128 Then

six = CreateAgt(Universe.field.person)

six.life = -245*Log(1-rnd()

If six.life == 0 Then

six.life = six.life +1

End if

six.wt = two4.wt

six.kinyu =0

AddAgt(Universe.field.gyoretsu2, six)
Else

WriteFileCSV(12, two4.wt, False)
End if
DelAgt(two4)
ClearAgtset(Universe.field.d4service)

End if
End if

If CountAgtset(Universe.field.d5service) >= 1 Then
Universe.field.servicetime5 = Universe.field.servicetime5 +1
twob = GetAgt(Universe.field.d5service, 0)
templife5 = twob.life
Universe.field.waitingtime5 = two5.wt
If Universe.field.servicetime5 == templife5 Then

Universe.field.sales = Universe.field.sales +1
Universe.field.servicetime5 = 0
tempnum = Rnd()
If tempnum <= 0.107 Then
six = CreateAgt(Universe.field.person)
six.life = -245*Log(1-rnd()
If six.life == 0 Then
six.life = six.life +1
End if

six.wt = twob.wt
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six.kinyu =0
six.kinyukeika = Int(382*2*rnd())
AddAgt(Universe.field.kaiteru2, six)
Elseif tempnum > 0.107 and tempnum <= 0.128 Then
six = CreateAgt(Universe.field.person)
six.life = -245*Log(1-rnd()
If six.life == 0 Then
six.life = six.life +1
End if
six.wt = twob.wt
six.kinyu =0
AddAgt(Universe.field.gyoretsu2, six)
Else
WriteFileCSV(12, two5.wt, False)
End if
DelAgt(twob)
ClearAgtset(Universe.field.d5service)
End if
End if

HEONZEBNTITHINTE CWELBRIZIRO~BET 5

If CountAgtset(Universe.field.dservice) == 0 and CountAgtset(Universe.field.gyoretsu) >= 1 Then
three = GetAgt(Universe.field.gyoretsu,0)
Universe.field.time = three.life
AddAgt(Universe.field.dservice, three)
DelAgtset(Universe.field.gyoretsu, Universe.field.dservice)

End if

If CountAgtset(Universe.field.d2service) == 0 and CountAgtset(Universe.field.gyoretsu) >= 1 Then
three2 = GetAgt(Universe.field.gyoretsu,0)
Universe.field.time2 = three2.life
AddAgt(Universe.field.d2service, three2)
DelAgtset(Universe.field.gyoretsu, Universe.field.d2service)
End if

If CountAgtset(Universe.field.d3service) == 0 and CountAgtset(Universe.field.gyoretsu2) >= 1 Then
three3 = GetAgt(Universe.field.gyoretsu2,0)
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Universe.field.time3 = three3.life

AddAgt(Universe.field.d3service, three3)

DelAgtset(Universe.field.gyoretsu2, Universe.field.d3service)
End if

If CountAgtset(Universe.field.d4service) == 0 and CountAgtset(Universe.field.gyoretsu2) >= 1 Then
three4 = GetAgt(Universe.field.gyoretsu2,0)
Universe.field.time4 = three4.life
AddAgt(Universe.field.d4service, three4)
DelAgtset(Universe.field.gyoretsu2, Universe.field.d4service)
End if

If CountAgtset(Universe.field.d5service) == 0 and CountAgtset(Universe.field.gyoretsu2) >= 1 Then
three5 = GetAgt(Universe.field.gyoretsu2,0)
Universe.field.time5 = three5.life
AddAgt(Universe.field.d5service, three5)
DelAgtset(Universe.field.gyoretsu2, Universe.field.d5service)
End if

N i

Universe.field.numperson = CountAgtset(Universe.field.gyoretsu) + CountAgtset(Universe.field.dservice)
+ CountAgtset(Universe.field.d2service)

Universe.field.numperson2 = CountAgtset(Universe.field.gyoretsu2) +
CountAgtset(Universe.field.d3service) + CountAgtset(Universe.field.d4service) +
CountAgtset(Universe.field.d5service)

Universe.field.numkinyu = CountAgtset(Universe.field. kaiteru) + CountAgtset(Universe.field.gyoretsu) +
CountAgtset(Universe.field.dservice) + CountAgtset(Universe.field.d2service)

Universe.field.numkinyu2 = CountAgtset(Universe.field kaiteru2) +
CountAgtset(Universe.field.gyoretsu2) + CountAgtset(Universe.field.d3service) +
CountAgtset(Universe.field.d4service) + CountAgtset(Universe.field.d5service)

7 7 A NEXHL

WriteFileCSV(8, Universe.field.numkinyu, False)
WriteFileCSV(9, Universe.field.numperson, False)
WriteFileCSV(10, Universe.field.numkinyu2, False)
WriteFileCSV(11, Universe.field. numperson2, False)
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For each four in Universe.field.gyoretsu
four.wt = four.wt +1

Next four

For each four2 in Universe.field.gyoretsu2
four2.wt = four2.wt +1

Next four2

7 7 A NVEEZHLORE

If GetCountStep() Mod 500 == 0 Then
WriteFileCSV(8, ", True)
WriteFileCSV(9, ", True)
WriteFileCSV(10, ", True)
WriteFileCSV(11, ", True)

End if

Univ_Finish{
WriteFileCSV(5, ", True)
WriteFileCSV(8, ", True)
WriteFileCSV(9, ", True)
WriteFileCSV(10, ", True)
WriteFileCSV(11, ", True)
WriteFileCSV(12, ", True)
CloseFileCSV(5)
CloseFileCSV(8)
CloseFileCSV(9)
CloseFileCSV(10)
CloseFileCSV(11)
CloseFileCSV(12)

}
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Univ_Init{

B EB O, HFEHL 7 7 A O U
Universe.field.waitingtime = 0
Universe.field.sales =0
Universe.field.numperson = 0
Universe.field.servicetime = 0
Universe.field.time = 0
Universe.field.numkinyu = 0
OpenFileCSV("machilp16.txt", 5, 3)
OpenFileCSV("ninzulp16.txt", 8, 3)
OpenFileCSV("ninzuserver1p16.txt", 9, 3)
OpenFileCSV("ninzu2p16.txt", 10, 3)
OpenFileCSV("ninzuserver2p16.txt", 11, 3)
OpenFileCSV("machi2p16.txt", 12, 3)
Universe.field.numperson2 = 0
Universe.field.numkinyu2 = 0
OpenFile("nomitotyaku0604.txt", 14, 1)
Universe.num = CInt(ReadFile(14))
OpenFile("igaitotyaku0604.txt", 15, 1)
Universe.num?2 = CInt(ReadFile(15))
OpenFile("nomiservicetime0604.txt", 16, 1)
Universe.num3 = CInt(ReadFile(16))
OpenFile("igaiservicetime0604.txt", 17, 1)
Universe.num4 = CInt(ReadFile(17))

}

Univ_Step_Begin{
Dim i As Integer
Dim one As Agt
Dim ii As Integer
Dim oneone As Agt

NEDOEE (HEEOH)

If GetCountStep() == Universe.num Then
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Universe.num = CInt(ReadFile(14))
one = CreateAgt(Universe.field.person)
one.life = Universe.num3
Universe.num3 = CInt(ReadFile(16))
one.wt =0
one.kinyu =0
one.kinyukeika = Int(319*2*rnd()
If Rnd() <= 0.305 Then
AddAgt(Universe.field.kaiteru, one)
Else
If CountAgtset(Universe.field.dservice) == 0 Then
AddAgt(Universe.field.dservice, one)
Universe.field.time = one.life
Elseif CountAgtSet(Universe.field.d2service) == 0 Then
AddAgt(Universe.field.d2service, one)
Universe.field.time2 = one.life
Else
AddAgt(Universe.field.gyoretsu, one)
End if
End if
End if

& DI (EELS)

If GetCountStep() == Universe.num2 Then
Universe.num2 = CInt(ReadFile(15))
oneone = CreateAgt(Universe.field.person)
oneone.life = Universe.num4
Universe.num4 = CInt(ReadFile(17))
oneone.wt =0
oneone.kinyu = 0
oneone.kinyukeika = Int(382*2*rnd())
If Rnd() <= 0.266 Then
AddAgt(Universe.field.kaiteru2, oneone)
Else
If CountAgtset(Universe.field.d3service) == 0 Then
AddAgt(Universe.field.d3service, oneone)

Universe.field.time3 = oneone.life
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Elseif CountAgtSet(Universe.field.d4service) == 0 Then
AddAgt(Universe.field.d4service, oneone)
Universe.field.time4 = oneone.life

Elseif CountAgtSet(Universe.field.d5service) == 0 Then
AddAgt(Universe.field.d5service, oneone)
Universe.field.time5 = oneone.life

Else
AddAgt(Universe.field.gyoretsu2, oneone)

End if

End if
End if
}
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